
 

HONDA CBR1000 RR, 2020 -  
REVERSE SHIFTING  

Part nr.  7380 
 

M8 x 25 DIN7991 

M6 x 12 DIN7991 

813RE 

813LB 

M6 x 25 DIN7380 
Ø12 x tl.9 

M6 x 45 DIN7380 
817 + Ø12 x tl.20 

M6 DIN985 
 

 M8 x 30 DIN7380 

M8 x 30 DIN6921 
807 

810S 
2x M6 x 12 DIN7991 

 

8960 

M6 x 16 DIN7984 
+ 2067 

 

 

M8 x 70 DIN6921 

Ø22 x tl.22 

M6 x 12 DIN7991 

810S 
2x M6 x 12 DIN7991 

 

M8 x 40 DIN6921 
Ø22 x tl.12 

from behind BD19 
BRAKE SENSOR HOLDER 

+ M5 x 6 DIN7380 

 

738D 

818175 

 
903 

 


